
Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-101[5304]-101[5304]-101[5304]-101

M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-101 : Micro-Economic Analysis-IEC-101 : Micro-Economic Analysis-IEC-101 : Micro-Economic Analysis-IEC-101 : Micro-Economic Analysis-I

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer the following questions in 500500500500 words each (any one) : [20]

(1) Explain the theory of returns to scale.

(2) Describe the law of diminishing marginal utility. State its

assumption and exceptions.

2.2.2.2. Answer the following questions in 500500500500 words each (any one) : [20]

(1) Explain the revealed preference theory of demand.

(2) What is consumer’s equilibrium ? Explain income, substitution

and price effects with the help of indifference curve.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(1) Explain the income and cross elasticity of demand.

(2) Explain the law of variable proportions.

(3) Explain the short-run and long-run cost curve of firm.

P.T.O.
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(4) Complete the following table :

No. Total Total Total Average Average Average Marginal

of Fixed Variable Cost Fixed Variable Cost Cost

units Cost Cost (Rs.) Cost Cost (Rs.) (Rs.)

(Rs.) (Rs.) (Rs.) (Rs.)

1 10 10 20 10 10 – 10

2 10 – 28 – 9 14 –

3 10 24 34 3.3 – – 6

4 10 28 – 2.5 7 9.5 4

5 10 – 42 2 – 8.4 –

6 10 38 – 1.7 6.3 – 6

7 10 – 56 – 6.6 8 –

8 10 56 – 13 – 8.3 10

4.4.4.4. Write short notes on (any four) : [20]

(1) Methods of measuring price elasticity

(2) Indifference curve

(3) Importance of micro-economics

(4) Economic and accounting cost

(5) Internal economies

(6) Deductive methods.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. 500500500500 [20]

(1)

(2)
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2.2.2.2. 500500500500 [20]

(1)

(2)

3.3.3.3. 250250250250  [20]

(1)

(2)

(3)

(4)

1 10 10 20 10 10 – 10

2 10 – 28 – 9 14 –

3 10 24 34 3.3 – – 6

4 10 28 – 2.5 7 9.5 4

5 10 – 42 2 – 8.4 –

6 10 38 – 1.7 6.3 – 6

7 10 – 56 – 6.6 8 –

8 10 56 – 13 – 8.3 10

4.4.4.4. [20]

(1)

(2)

(3)

(4)

(5)

(6)
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SeatSeatSeatSeat

No.No.No.No. [5304]-102[5304]-102[5304]-102[5304]-102

M.A. (Part I) (Sem. I) EXAMINATION, 2018M.A. (Part I) (Sem. I) EXAMINATION, 2018M.A. (Part I) (Sem. I) EXAMINATION, 2018M.A. (Part I) (Sem. I) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-102 : Public FinanceEC-102 : Public FinanceEC-102 : Public FinanceEC-102 : Public Finance

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500 500 500 500 words : [20]

(i) Discuss the role of the Government in a changing perspective

of Public Finance.

(ii) Explain the application of taxation principles in developing

countries.

2.2.2.2. Answer any one of the following questions in 500 500 500 500 words : [20]

(i) Distinguish between impact and incidence of Taxes.

(ii) Explain the principle of social cost-benefit analysis.

3.3.3.3. Answer the following questions in 250 250 250 250 words each (any two) : [20]

(i) Explain the concept of private goods, social goods and merit

goods.

(ii) Explain ‘Wiseman-Peacock Hypothesis’ of Public Expenditure.

P.T.O.
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(iii) Explain the methods of repayment of public debt.

(iv) What is meant by Taxable Capacity ? Explain the types of

taxable capacity.

4.4.4.4. Write short notes on (any four) : [20]

(i) Fiscal functions of the Government

(ii) Principle of equity of Taxation

(iii) Administrative efficiency of Taxation

(iv) Wagner’s law of public expenditure

(v) Keynesian approaches of public debt

(vi) Public debt management.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii)

2.2.2.2. [20]

(i)

(ii)
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3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-103[5304]-103[5304]-103[5304]-103

M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-103 : Agricultural EconomicsEC-103 : Agricultural EconomicsEC-103 : Agricultural EconomicsEC-103 : Agricultural Economics

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(i) Review the Agricultural development under five year plans.

(ii) Explain the role and problems of unorganised credit system

in Indian Agriculture.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) State the causes of Low Agricultural Productivity in India.

Suggest the measures to increase it.

(ii) Compare the pricing of Agricultural goods with Industrial goods.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(i) Explain the role of the Agriculture in Maharashtra’s economy.
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(ii) Explain the efficiency of irrigation in India.

(iii) State the challenges before agricultural credit system.

(iv) Explain the recent changes in agricultural management.

4.4.4.4. Write short notes on (any four) : [20]

(i) Biotechnology

(ii) Livestock in India

(iii) NABARD

(iv) Agricultural Price System

(v) Problems of Agricultural Management

(vi) Organic Farming.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii)
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-104[5304]-104[5304]-104[5304]-104

M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018M.A. (Part I) (First Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-104 : Indian Economic Policy)(EC-104 : Indian Economic Policy)(EC-104 : Indian Economic Policy)(EC-104 : Indian Economic Policy)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500 500 500 500 words : [20]

(i) State the nature of poverty in India. Explain the policies to

eradicate the poverty.

(ii) Explain the changing role of public sector in India.

2.2.2.2. Answer any one of the following questions in 500 500 500 500 words : [20]

(i) Describe the growth and pattern of Industrial Sector in Post-

Reform Period.

(ii) Explain the Reforms in Money Market and Capital Market

Since 1991.

P.T.O.
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3.3.3.3. Answer any two of the following questions in 250 250 250 250 words each : [20]

(i) Explain the structure of National Income in India.

(ii) Explain the Agricultural Finance Policy.

(iii) Discuss the Energy Problems in India.

(iv) State the causes and problems of rural-urban interruption.

4.4.4.4. Write short notes on any four of the following in 100100100100 words each : [20]

(i) Inequality in India

(ii) Globalisation

(iii) Problems in Labour Market

(iv) Types of Unemployment

(v) Role of Small Scale Industries

(vi) Social Infrastructure.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(i)

(ii)
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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SeatSeatSeatSeat

No.No.No.No. [5304]-105[5304]-105[5304]-105[5304]-105

M.A. (Part I) (First Sem.) EXAMINATION, 2018M.A. (Part I) (First Sem.) EXAMINATION, 2018M.A. (Part I) (First Sem.) EXAMINATION, 2018M.A. (Part I) (First Sem.) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-105 : Labour Economics)(EC-105 : Labour Economics)(EC-105 : Labour Economics)(EC-105 : Labour Economics)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer the following questions in 500 500 500 500 words each (any one) : [20]

(i) State and explain Marginal Productivity Theory of Wage.

(ii) Discuss the causes of Absenteeism in Labour in India and explain

its effects.

2.2.2.2. Answer the following questions in 500 500 500 500 words each (any one) : [20]

(i) What are the causes of industrial disputes ? Discuss the methods

of their settlement.

(ii) Review the recommendations of Second National Commission

on Labour.

P.T.O.
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3.3.3.3. Answer the following questions in 250 250 250 250 words each (any two) : [20]

(i) Explain the nature and scope of Labour Economics.

(ii) Explain the growth and structure of Labour Unions in

India.

(iii) State and explain the reasons for migration of labour in

India.

(iv) Explain the Exit Policy.

4.4.4.4. Write short notes in 100 100 100 100 words each (any four) : [20]

(i) Significance and Peculiarities of Labour.

(ii) Minimum Wage and Fair Wage.

(iii) Problems of wage determination in rural sector.

(iv) Labour Turnover.

(v) National Wage Policy.

(vi) Collective Bargaining.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(i)

(ii)
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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SeatSeatSeatSeat

No.No.No.No. [5304]-106[5304]-106[5304]-106[5304]-106

M.A. (Part I) (I Semester) EXAMINATION, 2018M.A. (Part I) (I Semester) EXAMINATION, 2018M.A. (Part I) (I Semester) EXAMINATION, 2018M.A. (Part I) (I Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-106 : Co-operation Theory and PracticeEC-106 : Co-operation Theory and PracticeEC-106 : Co-operation Theory and PracticeEC-106 : Co-operation Theory and Practice

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words :  [20]

(1) What is co-operation ? Explain in detail the principles and

co-operation.

(2) Explain the progress and problems of co-operative sugar industry

in Maharashtra.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(1) Explain in detail the provisions of Co-operative Act, 1912.

(2) Discuss the weaknesses of co-operative movement in India and

suggest measures to remove these weaknesses.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(1) State and explain the weaknesses of co-operative audit system.

(2) Discuss in detail the progress and problems of Urban Co-operative

Banks in Maharashtra.

(3) Review the history and growth of co-operative movement in

Japan.

(4) Explain the role of NABARD in rural credit.
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4.4.4.4. Write short notes on (any four) : [20]

(1) Benefits of Co-operation

(2) Objectives of co-operative training

(3) Types of co-operative adudit

(4) Functions of District Central Co-operative Banks.

(5) Progress of Primary Agricultural Credit Co-operative Societies.

(6) International Co-operative Alliance.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

[20]

[20]
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[20]
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SeatSeatSeatSeat

No.No.No.No. [5304]-107[5304]-107[5304]-107[5304]-107

M.A. (Part-I) (First Semester) EXAMINATION, 2018M.A. (Part-I) (First Semester) EXAMINATION, 2018M.A. (Part-I) (First Semester) EXAMINATION, 2018M.A. (Part-I) (First Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-107 Mathematical Economics)(EC-107 Mathematical Economics)(EC-107 Mathematical Economics)(EC-107 Mathematical Economics)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to right indicate full marks.

(iii) Answer should be percised and to the point.

(iv) Use of non-programmable calculator is allowed.

1.1.1.1. Attempt any one out of two : [20]

(a) Given the matrix :

1 4 2

X 1 2 1

1 3 2

� �
� �

� �� �
� �
� �� �

show that XX–1 = I3.

(b) Given the demand function of two commodities as :

1 2
1

400
Q 2000 50 P

P 3
� 	 �

	

2 2
1

500
Q 2000 100 P

P 4
� � 	

	
P.T.O.
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(i) Find the nature of commodity

(ii) Calculate the four partial elasticites of demand at

P1 = 5, P2 = 1.

2.2.2.2. Attempt any one of the following : [20]

(a) Let ‘x’ be the number of units produced of some commodity

and let C(x) and R(x), be the total costs and total revenue

to produce ‘x’ items. Suppose that for x > 0, C(x) = 
3

3

x
 –

4x2 + 10x and R(x) = 10x – 2x2. Hence the profit ‘P’ is

given by P(x) = R(x) – C(x), therefore :

(i) Determine ‘P’ as a function of (x)

(ii) Find the demand at which P is maxmium.

(iii) What is the maxium profit ?

(b) Explain the concept of consumer’s surplus, what data would

you require to determine this when there is pure compelition

and monpoly. Give reasons.

(c) The demand and supply laws for a commodity are Pd =

5 – x2 and Ps = 2x – 3. Find the consumer surplus and

prducers surplus at equilibrium price.

3.3.3.3. Attempt any two of the following : [20]

(a) Assume the marginal cost function of a firm is MC =

(log x). Find the total cost function when the cost of producing

one unit is Rs. 20.
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(b) A manufacturer earns Rs. 4500 in the first month and

Rs. 6000 in the second month. On plotting these points the

manufacturer observes a linear function may fit the data.

(i) Find the linear function that hits the data.

(ii) Using your model make prediction of the earrings for

the third month.

(c) A profit making company wants to launch a new product. It

observes that the fixed cost of the new product is Rs. 35000,

and the variable cost per unit is Rs. 500. The revenue function

for the sale of ‘x’  units is given by 5000 x – 100x2. Find :

(i) Profit function

(ii) Break even point

(iii) The values of ‘x’ that result in a loss.

(d) Solve the following system of equations by matrix invession

method.

3x y z	 	 �

2 3 4x y z	 	 �

4 9 6x y z	 	 �

4.4.4.4. Attempt any four out of six : [20]

(a) Find the derivatives of :

(i)
1

1

x

x

�

	

(ii) (x – 3) (x + 1)

(iii) (5x + 4)5.
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(b) Find the elasticities of TC and AC of the function :

2C 2 4 3x x� 	 	

(c) Evaluate :

( 1)n

dx

x x 	
 .

(d) A publishing house finds that the costs of production directly

attributed to each book is Rs. 30, and that the fixed costs

are 15,000. If each book can be sold for Rs. 45, then determine :

(i) The cost function

(ii) The revenue function

(iii) The profit function

(iv) Break even point.

(e) If :

1 2 3 4 5 6

A = 1 0 2 , B 1 0 1

1 3 1 2 1 2

� � � �
� � � �
� � �� � � �
� � � �
� � � �� �� � � �

1 1 1

C = 1 2 3

1 2 2

� �� �
� �
�� �
� �
� �� �� �

Find A + B – C.

(f) If C = 0.01x2 + 5x + 100 is a cost function, find the average

cost function, at what level of production ‘x’ is there a minimum

average cost ? What is this minimum ?
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SeatSeatSeatSeat

No.No.No.No. [5304]-108[5304]-108[5304]-108[5304]-108

M.A. (Part-I) (I Semester) EXAMINATION, 2018M.A. (Part-I) (I Semester) EXAMINATION, 2018M.A. (Part-I) (I Semester) EXAMINATION, 2018M.A. (Part-I) (I Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-108 : DemographyEC-108 : DemographyEC-108 : DemographyEC-108 : Demography

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words each : [20]

(i) Describe the Theory of Demographic Transition.

(ii) Define population policy. Evaluate population policy in India.

2.2.2.2. Answer any one of the following questions in 500500500500 words each : [20]

(i) Explain the sex and age composition of population in developing

countries.

(ii) Is population growth a factor of Economic Development ?

Comment.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(i) Explain Optimum Theory of Population.

(ii) Describe the factors affecting the quality of population.

(iii) Explain the components of population growth.

(iv) Explain the structure of rural-urban population in developing

countries.
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4.4.4.4. Write short notes on (any four) : [20]

(i) The density of population

(2) Women Empowerment

(3) Scope of Demography

(4) Human Development Index (HDI)

(5) Fertility rate

(6) Size of population in India.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

[20]

[20]
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[0]

(HDI)
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SeatSeatSeatSeat

No.No.No.No. [5304]-201[5304]-201[5304]-201[5304]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-201 : Micro-Economic Analysis–IIEC-201 : Micro-Economic Analysis–IIEC-201 : Micro-Economic Analysis–IIEC-201 : Micro-Economic Analysis–II

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1.1.1.1. Answer any one question in 500 500 500 500 words : [20]

(i) Explain in short-run and long-run equilibrium of Industry under

perfect competition.

(ii) Explain the features of oligopoly, how is price and output

determined under oligopoly.

2.2.2.2. Answer any one question in 500 500 500 500 words : [20]

(i) What is non-price competition ? Explain how it appears in

the market.

(ii) Explain in detail Baumol’s model of Sales Revenue Maximization.

P.T.O.
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3.3.3.3. Answer the following questions in 250 250 250 250 words each (any two) : [20]

(i) Explain the excess capacity under monopolistic competition.

(ii) Explain the risk and uncertainty theory of profit.

(iii) Explain the Modern Theory of Rent.

(iv) State and explain Pigous’ theory of Welfare Economics.

4.4.4.4. Write short notes on (any four) : [20]

(i) Selling cost

(ii) Arrow’s impossibility theorem

(iii) Morris’s managerial model of the firm

(iv) Features of perfect competition

(v) Collective bargaining

(vi) Types of price discrimination.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(i)

(ii)
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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SeatSeatSeatSeat

No.No.No.No. [5304]-202[5304]-202[5304]-202[5304]-202

M.A. (Second Semester) EXAMINATION, 2018M.A. (Second Semester) EXAMINATION, 2018M.A. (Second Semester) EXAMINATION, 2018M.A. (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-202 : Indian Public Finance)(EC-202 : Indian Public Finance)(EC-202 : Indian Public Finance)(EC-202 : Indian Public Finance)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer any one of the following (in 500500500500 words) : [20]

(1) What is Budget ? State and explain the various components

of Union Budget.

(2) State the Public Debt Policy since 1991.

2.2.2.2. Answer any one of the following (in 500500500500 words) :  [20]

(1) Explain the casues, effects and remedial measures of Indian

Fiscal Imbalance.

(2) State and explain trends of different types of deficits since

1991.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(1) Explain the nature of centre-states conflict on finances.

(2) State the meaning and objectives of Deficit Financing.

(3) ‘‘Burden of public debt on Indian economy increasing.’’ Comment.

(4) Explain the provisions of transfer of resources from union to

states.

P.T.O.
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4.4.4.4. Write short notes on any four (in 100 100 100 100 words each) : [20]

(i) Budget deficit

(ii) Principles of Federal Finance

(iii) Trends in revenue of Local Bodies since-1991

(iv) Reforms in indirect taxes

(v) Balanced Budget Multiplier

(vi) Automatic stabilizers.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. 500500500500 [20]

(1)

(2)

2.2.2.2. 500500500500 [20]

(1)

(2)

3.3.3.3. 250250250250  [20]

(1)

(2)

(3)

(4)
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4.4.4.4. [20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-203[5304]-203[5304]-203[5304]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-203 : Indian Agricultural Problems and PoliciesEC-203 : Indian Agricultural Problems and PoliciesEC-203 : Indian Agricultural Problems and PoliciesEC-203 : Indian Agricultural Problems and Policies

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precised and to the point.

1.1.1.1. Answer the following questions in 500500500500 words each (any one) : [20]

(i) Explain the present policy of Ceiling on Land Holdings.

(ii) Explain the causes of low efficiency of Agricultural labour in

India.

2.2.2.2. Answer any one of the following questions in 500500500500 words each : [20]

(i) State the recent export-import policy of vegetable and fruits.

(ii) Assess the effects of W.T.O. on Indian Agriculture.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) :  [20]

(i) Explain recent agricultural problems in Maharashtra state.

(ii) Examine the SEZ policy in India.

(iii) Explain the importance of Employment Guarantee scheme.

(iv) Explain the problems of Agricultural labour in India.



[5304]-203 2

4.4.4.4. Write short notes on any four of the following : [20]

(i) Problems of Agricultural mechanization

(ii) Indian Agricultural Labour Policy

(iii) Agricultural Subsidies

(iv) Efficiency of Service Sector and Indian Agriculture

(v) Unemployment problems related to Indian Agriculture

(vi) Problems of Agricultural exports in India.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iii)

[20]

(i)

(ii)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)
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[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-204[5304]-204[5304]-204[5304]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-204 : Industrial EconomicsEC-204 : Industrial EconomicsEC-204 : Industrial EconomicsEC-204 : Industrial Economics

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(i) Explain in detail the role of foreign capital in India’s economic

development.

(ii) Explain the role of public sector in Indian Economy. What

its problems ?

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) Explain fully the sources of industrial finance.

(ii) Explain and critically evaluate Weber’s theory of Industrial

Location.
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3.3.3.3. Answer any two of the following questions in 250250250250 words each : [20]

(i) Evaluate the role of MNC’s in India.

(ii) Explain the need of the study of industrial economics.

(iii) Explain the factors influencing location of industries.

(iv) Explain the measures for improving the industrial productivity.

4.4.4.4. Write short notes on (any four) : [20]

(i) Industrial Policy 1956

(ii) Significance of the study of industrial economics

(iii) Foreign institutional finance

(iv) Types of industrial combinations

(v) Nature of industrial productivity in India

(vi) Euro Issues.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii)
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-205[5304]-205[5304]-205[5304]-205

M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-205 : Rural DevelopmentEC-205 : Rural DevelopmentEC-205 : Rural DevelopmentEC-205 : Rural Development

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(i) Describe the structure of Rural Economy in India and explain

the importance of rural development.

(ii) Explain the relation of agrarian reform and irrigation with

rural development.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) Explain the role and importance of rural industrialisation in

eliminating the rural indebtedness.

(ii) State and explain the features and progress of Swarn Jayanti

Gram Swarojgar Yojana.
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3.3.3.3. Answer any two of the following questions in 250250250250 words each : [20]

(i) Evaluate the performance of trible development programmes.

(ii) Comment on the failures of green revolution in India.

(iii) Explain the natures of employment opportunities in unorganised

sector.

(iv) Explain the causes of rural unemployment.

4.4.4.4. Write short notes on any four (in 100100100100 words) : [20]

(i) Importance of rural development

(ii) Agricultural growth in India since 1991

(iii) Features of V.M. Dandekar approach to rural development

(iv) Problems of rural electrification

(v) TRYSEM

(vi) Employment Guarantee Scheme of Maharashtra.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(i)

(ii)



[5304]-205 3 P.T.O.

2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v) (TRYSEN)

(vi)



Total No. of Questions—4444] [Total No. of Printed Pages—2222

SeatSeatSeatSeat

No.No.No.No. [5304]-206[5304]-206[5304]-206[5304]-206

M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-206 : Computer Application in Economic AnalysisEC-206 : Computer Application in Economic AnalysisEC-206 : Computer Application in Economic AnalysisEC-206 : Computer Application in Economic Analysis

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : 2½ Hours Maximum Marks : 60Time : 2½ Hours Maximum Marks : 60Time : 2½ Hours Maximum Marks : 60Time : 2½ Hours Maximum Marks : 60

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Attempt any one of the following : [1×15=15]

(i) What is Internet ? Explain the different technical component

required for Internet.

(ii) Explain the working of online banking. What are the advantages

and disadvantages of online banking ?

2.2.2.2. Attempt any one of the following (A or B) : [1×15=15]

(A) (i) What is Spreadsheet ? Explain with suitable example any

three function used in MS-Excel. [8]

(ii) What is operating system ? Explain the features provided

by Windows XP. [7]

Or

(B) (i) Explain the different types of computer. [8]

(ii) What is Network ? Explain any two Network Topology. [7]

P.T.O.
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3.3.3.3. Attempt any three of the following : [3×5=15]

(i) Explain B2C model with suitable example.

(ii) Explain the different types of software.

(iii) What the different techniques used for user authenticution ?

(iv) Explain the working of ATM.

(v) Explain any two application from accessories group.

4.4.4.4. Attempt any three of the following : [3×5=15]

(i) Explain the application of G2B model.

(ii) Explain any two input devices.

(iii) Explain the steps for creating column chart.

(iv) Explain how digital signatured is created and used.

(v) Explain the client server network.



P.T.O.

Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-207[5304]-207[5304]-207[5304]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018M.A. (Part I) (Second Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-207 : Statistical TechniquesEC-207 : Statistical TechniquesEC-207 : Statistical TechniquesEC-207 : Statistical Techniques

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Answers should be precise and to the point.

(iii) Use of non-programmable calculator is allowed.

(iv) Figures to the right indicate full marks.

1.1.1.1. Attempt any one : [20]

(a) A problem of statistics is given to two students ‘A’ and ‘B’.

The odds in favour of ‘A’ solving the problem are 6 to 9 and

against ‘B’ solving the problem 12 to 10. If ‘A’ and ‘B’ attempt,

find the probability of problem being solved.

(b) Define and discuss index numbers and give their uses, also

give the chain base method of constructing a Price Index

Numbers.
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2.2.2.2. Attempt any one : [20]

(a) From the prices of shares of ‘X’ and ‘Y’ below, find out which

is more stable in value :

X YX YX YX Y

34 108

54 107

52 105

53 105

56 106

58 107

52 104

50 103

51 104

49 101

(b) What is a time series ? Distinguish between the secular trend,

the seasonal variations and the cyclical fluctuations. How would

you measure secular trend in any given data ?

3.3.3.3. Attempt any two : [20]

(a) The average test marks in a particular class is 79. The standard

deviation is 8. If the marks are distributed normally, how

many students in a class of 200 did not receive marks between

72 and 82. Given :

Pr{0 < Z < 0.7} = 0.2580

Pr{0 < Z < 0.8} = 0.2881

Pr{0 < Z < 0.6} = 0.2257

where Z is a standard normal variable.
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(b) The first three moments of distribution about the value 67

of the variable are 0.45, 8.73 and 8.91. Calculate the second

and third central moments, and the moment coefficient of

skewness. Indicate the nature of distribution.

(c) Between the hours 2 P.M. and 4 P.M. the average numbers

of phone calls per minute coming into the switch board of

a company is 2.35. Find the probability that during one particular

minimum there will be at most two phone calls.

(Given : e–2.35 = 0.95374.)

(d) The number of scooter accidents per month in a certain town

were as follows :

12, 08, 20, 02, 14, 10, 15, 06, 09, 04.

are these frequencies in agreement with the belief that accident

conditions were the same during 10 months period.

4.4.4.4. Attempt any four : [20]

(a) Discuss the weak points of various measures of central tendency.

(b) Comment : Regression equations are irreversible.

(c) What are the main features of Poisson Distribution.

(d) Give the various applications of ‘t’ distribution in statistics.

(e) Discuss measures of dispersion, indicating the uses.

(f) Explain the types of errors in hypothesis testing.



Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-208[5304]-208[5304]-208[5304]-208

M.A. (Part I) (Sem. II) EXAMINATION, 2018M.A. (Part I) (Sem. II) EXAMINATION, 2018M.A. (Part I) (Sem. II) EXAMINATION, 2018M.A. (Part I) (Sem. II) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-208 : Community Development and PlanningEC-208 : Community Development and PlanningEC-208 : Community Development and PlanningEC-208 : Community Development and Planning

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions (in 500 500 500 500 words) : [20]

(i) Critically evaluate different theories of underdevelopment.

(ii) Critically evaluate the role of state by means of public sector

in economic development with reference to planning in India.

2.2.2.2. Answer any one of the following questions (in 500 500 500 500 words) : [20]

(i) Explain the relationship between social development and

environmental change.

(ii) Explain in detail the India’s Population Policy.

3.3.3.3. Answer the following questions in 250 250 250 250 words each (any two) : [20]

(i) Describe the relationship between planning and aid.

(ii) Explain the Marxian theory of social development.

(iii) What is community development ?

(iv) State the International Population Policy.

P.T.O.
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4.4.4.4. Write short notes on (any four) : [20]

(i) Fundamentals of social theory

(ii) Religious values and beliefs

(iii) Guided development

(iv) Overseas development assistance and social planning

(v) Basic human needs

(vi) Social planning.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii)

2.2.2.2. [20]

(i)

(ii)
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3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-301[5304]-301[5304]-301[5304]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2018M.A. (Part II) (Third Semester) EXAMINATION, 2018M.A. (Part II) (Third Semester) EXAMINATION, 2018M.A. (Part II) (Third Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-301 : Macro-Economic Analysis-I)(EC-301 : Macro-Economic Analysis-I)(EC-301 : Macro-Economic Analysis-I)(EC-301 : Macro-Economic Analysis-I)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(1) Explain Keynesian liquidity preference approach to demand for

money.

(2) Explain with diagram two-sector, three-sector and four-sector

model of the circular flow of income.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(1) Explain absolute income hypothesis and life cycle hypothesis

of consumption.

(2) What do you mean by investment multiplier ? Explain with

the help of suitable example.

3.3.3.3. Answer any two of the following questions in 250250250250 words

each :  [20]

(1) Explain the factors affecting marginal efficiency of capital.

(2) Explain psychological law of consumption.

(3) State RBI’s approach to money suppy.

(4) Explain flow of funds accounting.

P.T.O.
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4.4.4.4. Write short notes on (any four) : [20]

(1) Principle of acceleration

(2) LM curve

(3) Cambridge equations

(4) High-powered money

(5) Financial intermediation

(6) Money multiplier.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

(v)

1.1.1.1. 500500500500 [20]

(1)

(2)

2.2.2.2. 500500500500 [20]

(1)

(2)

3.3.3.3. 250250250250  [20]

(1)

(2)

(3)

(4)
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4.4.4.4. [20]

(1)

(2) (LM)

(3)

(4)

(5)

(6)
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SeatSeatSeatSeat

No.No.No.No. [5304]-302[5304]-302[5304]-302[5304]-302

M.A. (Part II) (Sem. III) EXAMINATION, 2018M.A. (Part II) (Sem. III) EXAMINATION, 2018M.A. (Part II) (Sem. III) EXAMINATION, 2018M.A. (Part II) (Sem. III) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-302 : Economics of GrowthEC-302 : Economics of GrowthEC-302 : Economics of GrowthEC-302 : Economics of Growth

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1.1.1.1. Answer any one of the following questions in 500 500 500 500 words : [20]

(i) What is economic growth ? Explain the role of capital and

technology in economic growth.

(ii) Explain the Karl Marx’s theory of development of capitalistic

economy.

2.2.2.2. Answer any one of the following questions in 500 500 500 500 words : [20]

(i) Critically examine the Harrod and Domar Model of growth.

(ii) Explain Mrs. Joan Robinson’s Economic Growth Model.

3.3.3.3. Answer the following questions in 250 250 250 250 words each (any two) : [20]

(i) Explain the growth model of Kaldor.

(ii) State the capital controversy.

(iii) Explain the factors affecting economic growth.

(iv) Explain Ricardo’s theory of distribution.

P.T.O.
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4.4.4.4. Write short notes in 100100100100 words each (any four) : [20]

(i) Intellectual capital

(ii) Structural analysis of development

(iii) Imperfect market paradigm

(iv) Innovation

(v) Role of money in economic growth

(vi) Meade’s Growth model.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii)

2.2.2.2. [20]

(i)

(ii)
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3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-303[5304]-303[5304]-303[5304]-303

M.A. (Part-II) (III-Semester) EXAMINATION, 2018M.A. (Part-II) (III-Semester) EXAMINATION, 2018M.A. (Part-II) (III-Semester) EXAMINATION, 2018M.A. (Part-II) (III-Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-303 (A) : Research MethodologyEC-303 (A) : Research MethodologyEC-303 (A) : Research MethodologyEC-303 (A) : Research Methodology

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words :[20]

(1) Explain the meaning, need and features of good research design.

(2) Explain the different types of research.

2.2.2.2. Answer any one of the following questions in 500500500500 words :[20]

(1) Discuss comparative merits and demerits of primary and secondary

sources of data collection.

(2) Explain in detail the process of hypothesis testing.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(1) Discuss the steps involved in research report writing.

(2) Evaluate the importance of chi-square test.

(3) What are the different types of questionnaire ?

(4) Explain the measures of central tendency.
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4.4.4.4. Write short notes in 100 100 100 100 words each (any four) : [20]

(1) Types of samples

(2) Computer as a tool in research

(3) Graphs and Diagrams

(4) Advantages of computerised data processing

(5) Questionnaire construction

(6) Interview.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

[20]

[20]
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chi-square test

[20]
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SeatSeatSeatSeat

No.No.No.No. [5304]-304[5304]-304[5304]-304[5304]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2018M.A. (Part II) (Third Semester) EXAMINATION, 2018M.A. (Part II) (Third Semester) EXAMINATION, 2018M.A. (Part II) (Third Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-303 (B) : EconometricsEC-303 (B) : EconometricsEC-303 (B) : EconometricsEC-303 (B) : Econometrics

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

(v) Symbols have their usual meaning.

1.1.1.1. Answer any one of the following questions : [20]

(i) Find the regression equation for the consumption schedule provided

in the table below :

Aggregate Consumption Disposable IncomeAggregate Consumption Disposable IncomeAggregate Consumption Disposable IncomeAggregate Consumption Disposable Income

(Y) (X)(Y) (X)(Y) (X)(Y) (X)

102 114

106 118

108 126

110 130

122 136

124 140

128 148

130 156

142 160

148 164

150 170

154 178
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(ii) What is heteroscedasticity ? Discuss sources, consequences and

remedial measures of heteroscedasticity.

2.2.2.2. Answer any one of the following questions : [20]

(i) Solve the reduced form equations for the following structural

equations and test whether the parameters of the demand and

supply equations are identified or not using indirect least squares

method :

q = a1 + b1p + u1 � Demand

q = a2 + b2p + c2R + u2 � Supply

where q = quantity

p = price

R = Rainfall.

(ii) A study recorded the Starting Salary (in thousands), Y, and

years of Education, X, for 10 employees (given below). Compute

the correlation coefficient of the two variables :

Starting Salary Years of EducationStarting Salary Years of EducationStarting Salary Years of EducationStarting Salary Years of Education

35 12

46 16

48 16

50 15

40 13

65 19

28 10

37 12

49 17

55 14
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3.3.3.3. Answer any two of the following questions : [20]

(i) State and explain features of Probit model.

(ii) What are dummy variables ? Explain how dummy variable can

be used in linear regression model.

(iii) State the assumptions of ordinary least squares method.

(iv) Explain the Goldfeld-Quandt test procedure for testing

heteroscedasticity.

4.4.4.4. Answer any four of the following questions : [20]

(i) State and explain the Rank and Order conditions of Identification

in Simultaneous equations model.

(ii) State the economic applications of time series analysis.

(iii) Explain R2 and Adjusted R2.

(iv) Explain Vector Autoregression (VAR) as a forecasting technique.

(v) Explain confidence interval approach to hypothesis testing.

(vi) State the conditions for hypothesis testing using t-distribution.
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SeatSeatSeatSeat

No.No.No.No. [5304]-305[5304]-305[5304]-305[5304]-305

M.A. (Part II) (Third Sem.) EXAMINATION, 2018M.A. (Part II) (Third Sem.) EXAMINATION, 2018M.A. (Part II) (Third Sem.) EXAMINATION, 2018M.A. (Part II) (Third Sem.) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(Optional Paper)(Optional Paper)(Optional Paper)(Optional Paper)

(EC-304 : Banking and Financial Institutions)(EC-304 : Banking and Financial Institutions)(EC-304 : Banking and Financial Institutions)(EC-304 : Banking and Financial Institutions)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer the following questions in 500 500 500 500 words (any one) : [20]

(i) Explain the indicators of financial development in India.

(ii) Explain the functions of Reserve Bank of India.

2.2.2.2. Answer the following questions in 500 500 500 500 words (any one) : [20]

(i) Explain the role and working of Export-Import Bank.

(ii) Explain the functions and working of International Bank for

Reconstiction and Development.

3.3.3.3. Answer the following questions in 250 250 250 250 words (any two) : [20]

(i) Explain the role of financial system in economic development.

(ii) Explain the role of State Bank of India.

P.T.O.
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(iii) Explain the types of Non-Banking Financial Institutions in

India

(iv) Explain the forms of foreign capital.

4.4.4.4. Write short notes on (any four) : [20]

(i) Financial Sector

(ii) Monetary Policy

(iii) General Insurance Corporation of India

(iv) Balance of Payments

(v) Euro Currency Market

(vi) Industrial Credit and Investment Corporation of India.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(i)

(ii)

2.2.2.2. [20]

(i)

(ii)
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3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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SeatSeatSeatSeat

No.No.No.No. [5304]-306[5304]-306[5304]-306[5304]-306

M.A. (Part-II) (III Semester) EXAMINATION, 2018M.A. (Part-II) (III Semester) EXAMINATION, 2018M.A. (Part-II) (III Semester) EXAMINATION, 2018M.A. (Part-II) (III Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-305 : Welfare EconomicsEC-305 : Welfare EconomicsEC-305 : Welfare EconomicsEC-305 : Welfare Economics

(Optional Paper)(Optional Paper)(Optional Paper)(Optional Paper)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words :  [20]

(i) What is optimum resource allocation ? Explain the importance

of optimum resource allocation in welfare maximization.

(ii) What is economic welfare ? Explain Kaldor and Hick’s contribution

in welfare economics.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) Critically evaluate Marshallian consumer’s surplus.

(ii) Explain the externalities of production and consumption.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(i) Explain in brief Pareto optimality.

(ii) Explain in brief Samuelson’s utility possibility curve.

(iii) Explain in brief Burgson’s social welfare function.

(iv) Explain in brief Pigovian welfare economics.
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4.4.4.4. Write short notes on (any four) : [20]

(i) Scitovsky double criterion

(2) Concept of contract curve

(3) Cost benefit analysis

(4) Marginal cost pricing

(5) Problems of public goods

(6) Utility function of individual.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

[20]

[20]
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[20]
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Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-307[5304]-307[5304]-307[5304]-307

M.A. (Part II) (III Semester) EXAMINATION, 2018M.A. (Part II) (III Semester) EXAMINATION, 2018M.A. (Part II) (III Semester) EXAMINATION, 2018M.A. (Part II) (III Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-306 : Economics of FinanceEC-306 : Economics of FinanceEC-306 : Economics of FinanceEC-306 : Economics of Finance

(Optional Paper)(Optional Paper)(Optional Paper)(Optional Paper)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words :  [20]

(i) Explain the general features of securities. Distinguish between

government bond and corporate securities.

(ii) Define swaps. Explain the mechanics and types of swaps.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) State and explain the mechanics of future market.

(ii) Critically examine the role of SEBI since 1991.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(i) State and explain the financial sector participants.

(ii) Explain the features of forward contracts.

(iii) Explain the efficient market hypothesis.

(iv) Explain in brief ‘Capital Assets Pricing Model’.
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4.4.4.4. Write short notes on (any four) : [20]

(1) Net present value

(2) Over the counter market

(3) Stock indices

(4) Types of derivatives

(5) Concept of cash flow

(6) Arbitrage.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

(Swaps) 

[20]

[20]
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[20]
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SeatSeatSeatSeat

No.No.No.No. [5304]-308[5304]-308[5304]-308[5304]-308

M.A. (Part-II) (III Semester) EXAMINATION, 2018M.A. (Part-II) (III Semester) EXAMINATION, 2018M.A. (Part-II) (III Semester) EXAMINATION, 2018M.A. (Part-II) (III Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-307 : Economics of EnvironmentEC-307 : Economics of EnvironmentEC-307 : Economics of EnvironmentEC-307 : Economics of Environment

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(i) Explain in detail the effects of environment on human lives.

(ii) Explain the effects of macro-economic policy on environment.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) Explain the role of environment education in protecting the

environment.

(ii) Explain the difference between human capital and physical capital.

3.3.3.3. Answer the following questions in 250250250250 words each (any two) : [20]

(i) Explain in instruments for controlling water pollution in India.

(ii) Explain the concept of sustainable development.

(iii) Explain different types of environment.

(iv) Explain the new model of pollution control.
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4.4.4.4. Write short notes on (any four) : [20]

(i) Environment and W.T.O.

(2) Noise pollution

(3) Environmental laws

(4) Use values

(5) Exhaustible resources

(6) Social forestry.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

[20]

[20]
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[20]
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SeatSeatSeatSeat

No.No.No.No. [5304]-401[5304]-401[5304]-401[5304]-401

M.A. (Part-II) (Fourth Semester) EXAMINATION, 2018M.A. (Part-II) (Fourth Semester) EXAMINATION, 2018M.A. (Part-II) (Fourth Semester) EXAMINATION, 2018M.A. (Part-II) (Fourth Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(Compulsory Paper)(Compulsory Paper)(Compulsory Paper)(Compulsory Paper)

(EC-401 : Macro-Economic Analysis-II)(EC-401 : Macro-Economic Analysis-II)(EC-401 : Macro-Economic Analysis-II)(EC-401 : Macro-Economic Analysis-II)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1.1.1.1. Answer the following questions in 500 500 500 500 words (any one) : [20]

(i) Explain the monetarist approach of inflation.

(ii) Explain in detail IS-LM model.

2.2.2.2. Answer the following questions in 500 500 500 500 words (any one) : [20]

(i) Explain features of classical school.

(ii) Discuss the policies of the control trade cycle.

P.T.O.
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3.3.3.3. Answer the following questions in detail with 250 250 250 250 words each

(any two) : [20]

(i) Explain the Phillips curve analysis.

(ii) Explain Friedman’s modern quantity theory of money.

(iii) Explain Tobin’s modified Phillips curve.

(iv) Explain the Loanable fund theory of Interest.

4.4.4.4. Write short notes in 100100100100 words each (any four) : [20]

(i) Features of LM curve

(ii) Fiscal policy

(iii) Classical approach to inflation

(iv) Business cycle theory of Kaldor

(v) Hicks theory of trade cycle

(vi) Keynesian approach to Macro Economics.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii) IS-LM 
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i) LM 

(ii)

(iii)

(iv)

(v)

(vi)
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SeatSeatSeatSeat

No.No.No.No. [5304]-402[5304]-402[5304]-402[5304]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2018M.A. (Part II) (Fourth Semester) EXAMINATION, 2018M.A. (Part II) (Fourth Semester) EXAMINATION, 2018M.A. (Part II) (Fourth Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-402 : Economics of Development)(EC-402 : Economics of Development)(EC-402 : Economics of Development)(EC-402 : Economics of Development)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(1) Explain the theory of demographic transition.

(2) What is meant by food security ? Explain the importance of

food security.

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(1) Explain the role of agriculture in economic development.

(2) Explain the international trade as an engine of growth.

3.3.3.3. Answer the following questions in 250250250250 words each (any

two) :  [20]

(1) Explain the role of Fiscal policy in developing countries.

(2) Critically examine the Ranis and Fei model of development.

(3) Explain the role of Foreign direct investment in developing

countries.

(4) Explain the importance of infrastructure in economic

development.

P.T.O.
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4.4.4.4. Write short notes in 100 100 100 100 words each (any four) : [20]

(1) Human Resource Development

(2) Sources of external borrowing

(3) Monetary policies in developing countries

(4) Globalization and agricultural growth

(5) Foreign aid Vs. Trade

(6) Unlimited supply of labour.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. 500500500500 [20]

(1)

(2)

2.2.2.2. 500500500500 [20]

(1)

(2)

3.3.3.3. 250250250250  [20]

(1)

(2)

(3)

(4)
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4.4.4.4. [20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5304]-403[5304]-403[5304]-403[5304]-403

M.A. (Part II) (IV Sem.) EXAMINATION, 2018M.A. (Part II) (IV Sem.) EXAMINATION, 2018M.A. (Part II) (IV Sem.) EXAMINATION, 2018M.A. (Part II) (IV Sem.) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

(EC-403 : International Economics)(EC-403 : International Economics)(EC-403 : International Economics)(EC-403 : International Economics)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw neat diagram wherever necessary.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(1) Critically examine the Heckscher-Ohlin theory of International

Trade.

(2) Explain the merits and demerits of flexible exchange rate.

2.2.2.2. Answer any one of the following questions 500500500500 words : [20]

(1) Discuss the changes in the direction and composition of India’s

foreign trade since 1991.

(2) Evaluate the perchasing power parity theory of rate of exchange.
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3.3.3.3. Answer the following questions in 250250250250 words each (any two) :  [20]

(1) Explain the factors affecting Term of Trade.

(2) Explain the direct methods of exchange control.

(3) Explain the functions of IMF.

(4) Explain the role of Multinational Corporation in economic

development.

4.4.4.4. Write short notes on (any two) : [20]

(1) Components of Balance of Payment

(2) Effect of tariffs

(3) Non-tariff barriers

(4) Flexible exchange rate

(5) Functions of W.T.O.

(6) Leontief Paradox

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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No.No.No.No. [5304]-404[5304]-404[5304]-404[5304]-404

M.A. (Part II) (Fourth Semester) EXAMINATION, 2018M.A. (Part II) (Fourth Semester) EXAMINATION, 2018M.A. (Part II) (Fourth Semester) EXAMINATION, 2018M.A. (Part II) (Fourth Semester) EXAMINATION, 2018

ECONOMICSECONOMICSECONOMICSECONOMICS

EC-405 : History of Modern Economic AnalysisEC-405 : History of Modern Economic AnalysisEC-405 : History of Modern Economic AnalysisEC-405 : History of Modern Economic Analysis

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1.1.1.1. Answer any one of the following questions in 500500500500 words : [20]

(i) Explain fully contribution by Mundell on International Trade.

(ii) What is the main contribution by Paul Krugman for understanding

the concept of ‘Globalization’ ?

2.2.2.2. Answer any one of the following questions in 500500500500 words : [20]

(i) Critically evaluate Life-cycle theory by Modigliani.

(ii) Explain fully the contribution by Meade in International

Trade.
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3.3.3.3. Answer any two of the following questions in 250250250250 words each : [20]

(i) What is impossibility theorem by Arrow ?

(ii) Explain classical approach inflation.

(iii) Explain revealed preference theory by Samuelson.

(iv) Explain Portfolio theory by Tobin.

4.4.4.4. Write short notes on (any four) : [20]

(i) Game theory

(ii) Impossibility theorem by Arrow

(iii) Welfare Economics by Amartya Sen

(iv) Revealed Preference

(v) IS-LM model by Hicks

(vi) Nash equilibrium theory.

80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

(v)

1.1.1.1. [20]

(i)

(ii)
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2.2.2.2. [20]

(i)

(ii)

3.3.3.3. [20]

(i)

(ii)

(iii)

(iv)

4.4.4.4. [20]

(i)

(ii)

(iii)

(iv)

(v) IS-LM

(vi)
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